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Concrete slabs suitable for a driveway are sold in two
sizes:

Type A: 0.6 mby 0.6 m

Type B: 0.6 m by 0.3 m.
Both types of slab cost $18.25 per square metre.
A driveway is to be 2.4 m wide and 18 m long. The
slabs are laid on sand which costs $18 per tonne. A
tonne of sand covers 17.5 m? to the required depth.
Sand must be purchased to a multiple of 0.2 of a tonne.

a Calculate the area of the driveway.
Explain why you need 4 type B slabs for the pattern given in the diagram.
How many type A slabs are needed?

a A

How much sand must be purchased?
Find the total cost of the slabs and sand.
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Your task is to design a rectangular duck enclosure of area 100 m?. Wire
netting must be purchased for three of the sides, as the fourth side is an
existing barn wall. Naturally you wish to minimise the length of netting
required to do the job, thereby minimising your costs.

a If AB is z m long, find BC in terms of z.

b Explain why the required length of netting is given

by L=20+220
=

¢ Use technology to find the value of z which will make L a minimum.

d  Sketch the desired shape, showing the dimensions of the enclosure.
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